
Problem Set 2 (PS2) due  
Monday  Feb. 5
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For  moment  equilibrium: 
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Let F be the force required to hold the block 
at a constant depth, and  the force due to 
buoyancy. Then,

( )
12 2.54(2400 1000) 9.8 ( )

100
389

B

con W

F F Mg
F Mg F gV gV

gV

N

N

ρ ρ
ρ ρ

+ =
= − = −

= −

×
= − × ×

=

w
conρ

Mg

BF F+

ρ
B con W



2.34

2 2

For equilibrium,
Weight of prism = buoyancy force,
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T h e  f o r c e  F  w i l l  a c t  o n  th e  l in e  y = 0 ,  
a t  a  d i s t a n c e   f r o m  th e  w a te r  s u r f a c e ,  
w h e r e ,  i f  w e  t a k e  m o m e n t  o f  y -a x i s .
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